
V

U9A

7404
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U8A

7404
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ontime=100n

e

tran 400n

V

U7A

7404
1 2 c

U11A

7402
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VU10A

7408
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S1
DSTM1

Implementation = clk1

period=200n
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.model MyPMOS PMOS vto=-0.9 kp=40u lambda=0.0125

VDD

3.3V

V

0

M7

My PMOS

L = 2u
W = {v al}

out

V2

TD = 1n

TF = 0.1n
PW = 10n
PER = 30n

V1 = 0

TR = 0.1n

V2 = 3.3

PARAM ET ERS:
v al = 10u

.model MyNMOS NMOS vto=0.8 kp=120u lambda=0.01

0

C1

1p

0

M6

My NMOS
W = 10u
L = 2u

 
 
 
 

V3

FREQ = 1k
VAMPL = 0.5
VOFF = 0 R1

1k

car

AM

00 0

mod
V4

FREQ = 100k
VAMPL = 1
VOFF = 0

V

 
 
 
 
 



out3

10

5

0

V

tran 1m

V2

1

ABS

V

out2
V1

FREQ = 1k
VAMPL = 1
VOFF = 0

V

out1

0

0

V

 
 
 

s*s+2*s+1

10

V

{f b_gain}

out1

1+s

PARAM ET ERS:
f b_gain = 1

V1

TD = 1

TF = 1u
PW = 100
PER = 200

V1 = 0

TR = 1u

V2 = 1

0

 


